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SECONDARY GROWTH

Exercise

1. Consider the following statements. In spring

season vascular cambium i. is less active ii.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BSAHf50pLvwM


Produces a large number of xylary elements iii.

Forms vessels with wide cavities of these.

A. (i) is correct but (ii) and (ii) are not

correct

B. (i) is not correct but (ii) and (iii) are

correct

C. (i) and (ii) are correct but (iii) is not

correct.

D. (i) and (ii) are not correct but (iii) is

correct.

https://dl.doubtnut.com/l/_BSAHf50pLvwM


Answer:

Watch Video Solution

2. Usually, the monocotyledons do not

increase their girth, because

A. They possess actively dividing cambium

B. They do not possess actively dividing

cambium.

C. Ceases activity of cambium

https://dl.doubtnut.com/l/_BSAHf50pLvwM
https://dl.doubtnut.com/l/_KAA87Wr3RF7H


D. All are correct.

Answer:

Watch Video Solution

3. In the diagram of Identical the aprts marked

as A,B,C,D. 

https://dl.doubtnut.com/l/_KAA87Wr3RF7H
https://dl.doubtnut.com/l/_FiZTQTKNhCMI


A. A. phellem, B. Complementary tissue, C.

Phelloderm, D. Phellogen.

B. A. Complementary tissue,B. Phellem, C.

Phellogen, D. Phelloderm.

C. A. Phellogen, B. Phellem, C. Phelloderm, D.

Complementary tissue

D. A. Phelloderm, B. Phellem, C.

Complementary tissue, D. Phellogen.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FiZTQTKNhCMI


4. The common bottle cork is a product of

A. dermatogen

B. Xylem

C. Phellogen

D. Vascular cambium

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FiZTQTKNhCMI
https://dl.doubtnut.com/l/_McalZtKxvYaU
https://dl.doubtnut.com/l/_mi38R9OldbM5


5. The increase in girth is called________

A. Primary growth

B. Secondary growth

C. Longitudinal growth

D. Tertiary growth

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mi38R9OldbM5


6. In monocots, usually there is no secondary

growth there is no secondary growth and so

they are

A. Soft

B. Hard

C. Thick

D. Thin

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ELRe9w1EVQkL


7. The vascular cambium produces the

secondary vascular tissues _______ and ________

A. Primary xylem and secondary phloem

B. Secondary phloem and primary xylem

C. Secondary xylem and secondary phloem

D. Secondary xylem and primary phloem.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2oQluWBdOZXv
https://dl.doubtnut.com/l/_wD1gBVr7fF2g


8. Interfascicular cambium joins with the

intrafascicular cambium on both sides to form

a continuous ring. It is called a

A. Vascular cambial ring

B. Intrafascicular cambial ring

C. Cork cambial ring

D. Stratified cambial ring

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wD1gBVr7fF2g
https://dl.doubtnut.com/l/_qZoZt3C3MSf8


9. Consider the following statements.

Organization of vascular cambium 

(i) The cells of vascular cambium do not fit into

the usual description (ii) vascular cambium

possesses Cells with large central vacuole

surounded by a thin, layers of dense

cytoplasm (iii) The vascular combium is the

presence of three kinds of initials.

A. (i) is correct but (ii) and (ii) are not

correct

https://dl.doubtnut.com/l/_qZoZt3C3MSf8


B. (i) and (ii) are correct but (iii) is not

correct.

C. (i) and (ii) are correct but (iii) is not

correct.

D. (i) and (ii) are not correct but (iii) is

correct.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qZoZt3C3MSf8


10. The cells which are produced out ward

form in vascular cambial ring is

A. Secondary xylem

B. Secondary phloem and primary xylem

C. Primary phloem

D. Primary xylem

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_sFIdn93U2zup
https://dl.doubtnut.com/l/_PqM1vy2fDs4c


11. The secondary xylem is also called ________

A. Leaf

B. Root

C. Wood

D. Bark

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PqM1vy2fDs4c


12. The study of wood by preparing sections

for microscopic observation is termed as:

A. Histology

B. Phloemtomy

C. Anatomy

D. Xylotomy

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gSt1Xqw7gyjY
https://dl.doubtnut.com/l/_21vBwTLku2U0


13. The axial system consits of vertical files of

A. Treachery elements, fibers and wood

parenchyma

B. Treachery elements and fibers

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_21vBwTLku2U0


14. Pinus has

A. Porous wood

B. Non-porous wood

C. Spring wood

D. Hard wood

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QLeCQQKm8bM9


15. Apical meristems produce

A. The primary plant body

B. The secondary plant body

C. The tertiary plant body

D. All of these.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_70T0gcV3jIV8


16. The activity of vascular cambium is under

the control.

A. Many physiological factors

B. Environmental factors

C. a and b

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Ddf4ffMi6dhU
https://dl.doubtnut.com/l/_RMYFPHkXF8E2


17. The determination of the age of a tree by

counting the annual rings is called

A. Dendroclimatology

B. Dendrochronology

C. Chronology

D. Climatology

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RMYFPHkXF8E2


18. The age of American, sequoiadendron tree

is about

A. 530 years

B. 3,500 years

C. 3,700 years

D. 3,505 years.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FdGtpELIJ2UB
https://dl.doubtnut.com/l/_uEwjd1R09kra


19. Which one of the following is an example

for diffuse porous wood?

A. Quercus

B. Pinus

C. Morus rubra

D. Acer

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uEwjd1R09kra


20. The wood of Quercus plant is

A. Diffuse porous

B. Central porous

C. Ring porous

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jLFSK6uAYeKK


21. In ________ the resin ducts are blocked by

tylose like ingrowths.

A. Angiosperms

B. Gymnosperms

C. a and b

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QGsxoDVw3hTy
https://dl.doubtnut.com/l/_as160Q5stP2Q


22. In Bombax

A. the resin ducts are blocked by like out

growths.

B. the sieve tubes are blocked byu tylose

like ingrowths.

C. the sieve tubes are blocked by tylose like

out growths.

D. the resin ducts are blocked by tylose like

in growths.

https://dl.doubtnut.com/l/_as160Q5stP2Q


Answer:

Watch Video Solution

23. In any three the outer part of the wood,

which is paler in colour, is called_____

A. sap wood

B. heart wood

C. Porous wood

D. ring porous wood

https://dl.doubtnut.com/l/_as160Q5stP2Q
https://dl.doubtnut.com/l/_1cwSM4cMFYZC


Answer:

Watch Video Solution

24. When_____ is destroyed, the plant will die

because conduction of water will be blocked.

A. heart wood

B. hard wood

C. sap wood

D. soft wood

https://dl.doubtnut.com/l/_1cwSM4cMFYZC
https://dl.doubtnut.com/l/_0pah2X3VG5KT


Answer:

Watch Video Solution

25. The vascular cambium ring produces

________ or bast on the outer side of the

vascular bundle.

A. Primary xylem and secondary phloem

B. secondary xylem

C. secondary phloem

D. Primary phloem

https://dl.doubtnut.com/l/_0pah2X3VG5KT
https://dl.doubtnut.com/l/_QeAOPTQuaHdi


Answer:

Watch Video Solution

26. Whenever stems and roots increase in

thickness by secondary growth, which part

replaces the epidermis?

A. periderm

B. phellem

C. phellogen

D. phelloderm

https://dl.doubtnut.com/l/_QeAOPTQuaHdi
https://dl.doubtnut.com/l/_6eaUzTIXdHrI


Answer:

Watch Video Solution

27. Consider the following statements. Phellem

is (i) the protective tissue. (ii) replace the

epidermis in older stems and roots of many

seed plants. (iii) characterized by irregularly

arranged tiers and rows of cells.

A. (i) is correct but (ii) and (ii) are not

correct

https://dl.doubtnut.com/l/_6eaUzTIXdHrI
https://dl.doubtnut.com/l/_hpHg6SajQufG


B. (i) is not correct but (ii) and (iii) are

correct

C. (i) and (ii) are correct but (iii) is not

correct.

D. (i) and (ii) are not correct but (iii) is

correct.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hpHg6SajQufG


28. Which tree has scale bark?

A. Quercus

B. Pinus

C. Morus rubra

D. Guava.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wYxFMgw9Krx7


29. ___________ is helpful in exchange of gases

and transpiration.

A. Bark

B. Lenticel

C. Periderm

D. Phellem

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Kt5XlTPw8gJd
https://dl.doubtnut.com/l/_RvY2MEGyyCYw


30. The phellem layer of bark tissue is

harvested for commercial use primarily from

____________

A. Cinnamomum zeylanicum

B. Quercus suber

C. hevea brasiliensis

D. Acacia senegal

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RvY2MEGyyCYw
https://dl.doubtnut.com/l/_cv7SAC0nDd4O


31. Turpentine obtained from bark of

A. Hevea brasiliensis

B. Quercus suber

C. Cinnamomum zeylanicum

D. Conifers

Answer:

Watch Video Solution

32. Gum arabic obtained from

https://dl.doubtnut.com/l/_cv7SAC0nDd4O
https://dl.doubtnut.com/l/_VwhcCDxluW2S


A. Acacia senegal

B. Cinnamomum zeylanicum

C. Quercus suber

D. Pinus

Answer:

Watch Video Solution

33. ________ growth in dicot roots is essential to

provide strength to growing aerial parts of

the plants.

https://dl.doubtnut.com/l/_VwhcCDxluW2S
https://dl.doubtnut.com/l/_tUX0obhKi8oI


A. Secondary

B. Primary

C. Teritary

D. None of these

Answer:

Watch Video Solution

34. Phelloderm is otherwise called as

A. Secondary cortex

https://dl.doubtnut.com/l/_tUX0obhKi8oI
https://dl.doubtnut.com/l/_UwaXszZgZQCS


B. Cork cambium

C. Primary cortex

D. Cork

Answer:

Watch Video Solution

35. The roots and stems grow in length with

the help of _________

A. Lateral meristems

https://dl.doubtnut.com/l/_UwaXszZgZQCS
https://dl.doubtnut.com/l/_XOTLdS26M9CY


B. Apical meristems

C. Inercalary meristems

D. Primary meristems

Answer:

Watch Video Solution

36. The secondary growth in dicots and

gymnosperms is brought about by ________and

cork cambium.

https://dl.doubtnut.com/l/_XOTLdS26M9CY
https://dl.doubtnut.com/l/_LkdQMIvjSFpm


A. Vascular cambial ring

B. Phloem

C. Xylem

D. Phellogen

Answer:

Watch Video Solution

37. __________ cambium is present inside the

vascular bundles.

https://dl.doubtnut.com/l/_LkdQMIvjSFpm
https://dl.doubtnut.com/l/_2tWxTGdzpGEg


A. Vascular

B. Interfascicular

C. Intrafascicular

D. Stratified

Answer:

Watch Video Solution

38. Non-stratified cambium is otherwise known

as_______

https://dl.doubtnut.com/l/_2tWxTGdzpGEg
https://dl.doubtnut.com/l/_0s4SzRQoEyWE


A. Fascicular cambium

B. Interfascicular cambium

C. Non-storied

D. Stratified cambium

Answer:

Watch Video Solution

39. The vascular cambial ring, when active, cuts

off _________ both towards the inner and outer

side.

https://dl.doubtnut.com/l/_0s4SzRQoEyWE
https://dl.doubtnut.com/l/_cJzhfXIjJxhS


A. New cells

B. Lateral meristem

C. Longitidunal cells

D. Ray cells

Answer:

Watch Video Solution

40. _____ and _______ get gradually crushed due

to the continued formation of secondary

xylem and phloem.

https://dl.doubtnut.com/l/_cJzhfXIjJxhS
https://dl.doubtnut.com/l/_FzGvboAl74vp


A. Primary xylem and secondary phloem

B. Primary phloem

C. Secondary xylem

D. Secondary phloem

Answer:

Watch Video Solution

41. _____________ is an example of porous wood.

A. Red wood

https://dl.doubtnut.com/l/_FzGvboAl74vp
https://dl.doubtnut.com/l/_YSB1iuigpP8e


B. Pinus

C. Quercus suber

D. Morus rubra

Answer:

Watch Video Solution

42. Annual rings are less distinct in _________

plants.

A. Dicot leaf

https://dl.doubtnut.com/l/_YSB1iuigpP8e
https://dl.doubtnut.com/l/_fXjSKFpqfbAF


B. Species

C. Temperate

D. Desert

Answer:

Watch Video Solution

43. Annual rings are called__________

A. Growth rings

B. Ring bark

https://dl.doubtnut.com/l/_fXjSKFpqfbAF
https://dl.doubtnut.com/l/_8kviZbNE7DW1


C. Scale bark

D. Phelloids

Answer:

Watch Video Solution

44. _________ word is used by the wood

anatomists to refer the vessels as pores in

transverse section.

A. Tyloses

https://dl.doubtnut.com/l/_8kviZbNE7DW1
https://dl.doubtnut.com/l/_InHCJvNcqCVn


B. Porous

C. Vessels

D. Fibers

Answer:

Watch Video Solution

45. Diffuse porous wood and ________ wood are

the two main types of angiosperm woods.

A. Porous wood

https://dl.doubtnut.com/l/_InHCJvNcqCVn
https://dl.doubtnut.com/l/_IaocD0c7nQWo


B. Ring bark

C. Ring porous

D. Sap wood

Answer:

Watch Video Solution

46. _______are tylose like ingrowths found in

gymnosperms and angiosperms.

A. Phellogen

https://dl.doubtnut.com/l/_IaocD0c7nQWo
https://dl.doubtnut.com/l/_JlE6AqtMnptg


B. Tylosoids

C. Complementary tissue

D. Sap wood

Answer:

Watch Video Solution

47. ______ wood is more durable.

A. Sap

B. Hard

https://dl.doubtnut.com/l/_JlE6AqtMnptg
https://dl.doubtnut.com/l/_92QatwOK7DQV


C. Heart

D. Spring

Answer:

Watch Video Solution

48. Heart wood is also known as_______

A. sap wood

B. Duramen

C. Alburmum

https://dl.doubtnut.com/l/_92QatwOK7DQV
https://dl.doubtnut.com/l/_splSk8hhwmDX


D. Soft wood

Answer:

Watch Video Solution

49. Abies balsamea produces _________ from its

resin ducts.

A. Amber

B. Canada balsam

C. Gum

https://dl.doubtnut.com/l/_splSk8hhwmDX
https://dl.doubtnut.com/l/_ZbiErCz40GMQ


D. Resin

Answer:

Watch Video Solution

50. Growth rings are produced by the activity

of_________

A. Meristem

B. Xylem

C. Phloem

https://dl.doubtnut.com/l/_ZbiErCz40GMQ
https://dl.doubtnut.com/l/_cWDHS5jFCZX5


D. Cambium

Answer:

Watch Video Solution

51. Vasular cambium is the ________ meristem.

A. Primary

B. Lateral

C. Intercalary

D. Apical

https://dl.doubtnut.com/l/_cWDHS5jFCZX5
https://dl.doubtnut.com/l/_QG0k3gMiN66A


Answer:

Watch Video Solution

52. ________ consists of phellem, phellgoen and

phelloderm.

A. Cambium

B. Lenticel

C. Periderm

D. Cork

https://dl.doubtnut.com/l/_QG0k3gMiN66A
https://dl.doubtnut.com/l/_uNzhwTxTVBQI


Answer:

Watch Video Solution

53. Quercus is an example for ______

A. Rhtidome

B. Duramen

C. Tylosoids

D. Diffuse porous wood

Answer:

https://dl.doubtnut.com/l/_uNzhwTxTVBQI
https://dl.doubtnut.com/l/_kzglkGaFUSGW


Watch Video Solution

54. If the phellogen forms a complete cylinder

around the stem, it gives rise to

A. Ring porous

B. Pseudo rings

C. Ring barks

D. Growth rings

Answer:

https://dl.doubtnut.com/l/_kzglkGaFUSGW
https://dl.doubtnut.com/l/_Xh0Ao4fXdm4A


Watch Video Solution

55. __________ is an example for ring bark plant.

A. Quercus

B. Pinus

C. Morus

D. Guava.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Xh0Ao4fXdm4A
https://dl.doubtnut.com/l/_J0pM2PbUU0YI
https://dl.doubtnut.com/l/_w8ztO2W2LlCy


56. Lenticel is fromed during_____ in stems.

A. Primary growth

B. Secondary growth

C. Teritary growth

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_w8ztO2W2LlCy


57. _________ is an alkaloid found in Cinchona

bark.

A. Nicotine

B. Morphine

C. Strychnine

D. Quinine

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hj8PSbj7cBTD
https://dl.doubtnut.com/l/_UI9JwcNrgs1S


58. What is secondary growth?

Watch Video Solution

59. What are the two types of lateral

meristem?

Watch Video Solution

60. What is vascular cambium?

Watch Video Solution

https://dl.doubtnut.com/l/_UI9JwcNrgs1S
https://dl.doubtnut.com/l/_tegPrpPyjGoA
https://dl.doubtnut.com/l/_PcyerSQ1KxZQ


61. What is vascular cambial ring?

Watch Video Solution

62. What are the two types of vascular

cambium recognized based on the

arrangement of the fusiform initials?

Watch Video Solution

63. What are fusiform initials?

https://dl.doubtnut.com/l/_ECrF5xfcZkrb
https://dl.doubtnut.com/l/_vfrTIoiLM1Fw
https://dl.doubtnut.com/l/_dLrh1tcFO0sv


Watch Video Solution

64. Write notes on storied cambium.

Watch Video Solution

65. What is non-storied cambium?

Watch Video Solution

66. What is xylotomy ?

https://dl.doubtnut.com/l/_dLrh1tcFO0sv
https://dl.doubtnut.com/l/_NZGa6B1OImXe
https://dl.doubtnut.com/l/_YTvNfHM1StWm
https://dl.doubtnut.com/l/_P0GsCfpvqnOB


Watch Video Solution

67. Spring wood - comment

Watch Video Solution

68. Define dendrochronology.

Watch Video Solution

69. Define dendroclimatology.

https://dl.doubtnut.com/l/_P0GsCfpvqnOB
https://dl.doubtnut.com/l/_vP2mZCQtaKHE
https://dl.doubtnut.com/l/_Jn9Q0ckU0Nzs
https://dl.doubtnut.com/l/_LNfdkg5UxtlS


Watch Video Solution

70. What is diffuse porous wood?

Watch Video Solution

71. What is ring porous wood?

Watch Video Solution

72. What is Tyloses ?

https://dl.doubtnut.com/l/_LNfdkg5UxtlS
https://dl.doubtnut.com/l/_jknSVftJCHMA
https://dl.doubtnut.com/l/_OK85rI3XDpyR
https://dl.doubtnut.com/l/_DA9BhaxpA2h2


Watch Video Solution

73. Mention some plants from which bast

fibres are obtained.

Watch Video Solution

74. What is periderm? How does periderm

formation take place in dicot stem?

Watch Video Solution

https://dl.doubtnut.com/l/_DA9BhaxpA2h2
https://dl.doubtnut.com/l/_UEosnQlwZ89K
https://dl.doubtnut.com/l/_A5uQyEJchOPj
https://dl.doubtnut.com/l/_WgmqgE69Vxea


75. What are Phelloids ?

Watch Video Solution

76. What is rhytidome?

Watch Video Solution

77. What is polyderm?

Watch Video Solution

https://dl.doubtnut.com/l/_WgmqgE69Vxea
https://dl.doubtnut.com/l/_VTRljgg50ZfR
https://dl.doubtnut.com/l/_LVn1nrGObjnA
https://dl.doubtnut.com/l/_CCV44jLJXwnr


78. What is Phelloderm ?

Watch Video Solution

79. What is scale bark?

Watch Video Solution

80. Define lenticel.

Watch Video Solution

https://dl.doubtnut.com/l/_CCV44jLJXwnr
https://dl.doubtnut.com/l/_E0UGoXvV7E2X
https://dl.doubtnut.com/l/_3R5OtRbJv16J
https://dl.doubtnut.com/l/_CPA5UKWHmICI


81. What is complementary tissue?

Watch Video Solution

82. Mention the functions of lenticels.

Watch Video Solution

83. A secondary tissue A is formed of three

components namely outer B, middle C and

inner D. C is a lateral meristemproducing an

https://dl.doubtnut.com/l/_CPA5UKWHmICI
https://dl.doubtnut.com/l/_SeyEaLR9Tpy0
https://dl.doubtnut.com/l/_KyiPWXw5r4xE


outer protective tissue B containing lenticels

and inner tissue D which has loosely arranged

cells containing chlorpolast. Identify A,B,C and

D

Watch Video Solution

84. What are pseudo annual rings?

Watch Video Solution

https://dl.doubtnut.com/l/_KyiPWXw5r4xE
https://dl.doubtnut.com/l/_TL7doqzAEMxc


85. The table given below describes the

intrafascicular cambium and interfascicular

cambium. Identify the missing words.

Watch Video Solution

86. What are tylosoids ?

Watch Video Solution

87. Write short notes on secondary phloem.

https://dl.doubtnut.com/l/_f0PKLSSK0FgH
https://dl.doubtnut.com/l/_kNr0e6Ujt9GC
https://dl.doubtnut.com/l/_lFOSVuCmPUOF


Watch Video Solution

88. Write short notes on phellem.

Watch Video Solution

89. Write short notes on phellogem.

Watch Video Solution

90. Explain bark. Write its uses.

https://dl.doubtnut.com/l/_lFOSVuCmPUOF
https://dl.doubtnut.com/l/_OFxbLshWeOym
https://dl.doubtnut.com/l/_jaZIkyxHWr5h
https://dl.doubtnut.com/l/_5FbmGx5ObCWG


Watch Video Solution

91. Which life process is responsible for the

annual rings in tree trunks? Explain this

process.

Watch Video Solution

92. Describe the origin and formation of

vascular cambium.

Watch Video Solution

https://dl.doubtnut.com/l/_5FbmGx5ObCWG
https://dl.doubtnut.com/l/_RxWocBIzzKz1
https://dl.doubtnut.com/l/_Rvr1g8n0hZtm


93. Describe the organization of vascular

cambium.

Watch Video Solution

94. Write notes on the activity of vascular

cambium.

Watch Video Solution

https://dl.doubtnut.com/l/_Rvr1g8n0hZtm
https://dl.doubtnut.com/l/_tY12l12U1BDh
https://dl.doubtnut.com/l/_Y33JqVNlmS8V


95. Describe secondary xylem.

Watch Video Solution

96. Label A,B,C,D,E in the dicot root.
 A-

metaxylem ,
 B-protoxylem,
 C-phloem,
 D-

pericycle,
E-endodermis.

Watch Video Solution

https://dl.doubtnut.com/l/_xyC6kkB7oEGW
https://dl.doubtnut.com/l/_fSzlOlPFLpOx


97. Write down the economic importance of

wood.

Watch Video Solution

98. Write down the economic importance of

barks.

Watch Video Solution

https://dl.doubtnut.com/l/_yWiMR8SQRmGm
https://dl.doubtnut.com/l/_ZmBzJZ1uI7cS


99. Explain the process of secondary growth in

stems of woody angiosperm with help of

schematic diagrams. What is the significance?

Watch Video Solution

100. Usually , the monocotyledons do not

increase their girth, because

A. They possess actively dividing cambium

https://dl.doubtnut.com/l/_1gbTqFvyZEAj
https://dl.doubtnut.com/l/_izYDoTlCNPQA


B. They do not possess actively dividing

cambium

C. Ceases activity of cambium

D. All are correct

Answer:

Watch Video Solution

101. The common bottle cork is a product of

A. Dermatogen

https://dl.doubtnut.com/l/_izYDoTlCNPQA
https://dl.doubtnut.com/l/_02TX9h7Tu8H9


B. Phellogen

C. Xylem

D. Vascular cambium

Answer:

Watch Video Solution

102. What is the fate of primary xylem in a

dicot root showing extensive secondary

growth?

https://dl.doubtnut.com/l/_02TX9h7Tu8H9
https://dl.doubtnut.com/l/_dLffYL8TGRAa


A. It is retained in the center of the axis

B. It gets crushed

C. May or may not get crushed

D. It gets surrounded by primary phloem

Answer:

Watch Video Solution

103. Phelloderm is otherwise called as

A. Secondary cortex

https://dl.doubtnut.com/l/_dLffYL8TGRAa
https://dl.doubtnut.com/l/_j5akHWW3RAO9


B. Cork cambium

C. Primary cortex

D. Cork

Answer:

Watch Video Solution

104. Heart wood is also known as_______

A. Sap wood

B. Duramen

https://dl.doubtnut.com/l/_j5akHWW3RAO9
https://dl.doubtnut.com/l/_7HqeZ8cZQiIY


C. Alburnum

D. Soft wood

Answer:

Watch Video Solution

105. In which season the vessles of

angiosperms are larger in size, Why?

Watch Video Solution

https://dl.doubtnut.com/l/_7HqeZ8cZQiIY
https://dl.doubtnut.com/l/_rOU2qXaueGYj


106. What is periderm ? Mention its

components .

Watch Video Solution

107. Define lenticel.

Watch Video Solution

108. What is xylotomy ?

Watch Video Solution

https://dl.doubtnut.com/l/_ouEXCJEKEIgR
https://dl.doubtnut.com/l/_N0W0yGHtbxqO
https://dl.doubtnut.com/l/_so800jKiJ1To


109. What is non-storied cambium?

Watch Video Solution

110. Define dendroclimatology.

Watch Video Solution

111. In a forest, if the bark of a tree is damaged

by the horn of a deer, How will be plant

https://dl.doubtnut.com/l/_so800jKiJ1To
https://dl.doubtnut.com/l/_znm5YMUo1Ofg
https://dl.doubtnut.com/l/_nlQpwn7ENSjF
https://dl.doubtnut.com/l/_xO6EC9dWwXFx


overcome the damage?

Watch Video Solution

112. A timber merchant bought 2 logs of wood

from a forest & named A & B , The log A was

50 year old & B was 20 years old. Which log of

wood will last longer for the merchant ? Why ?

Watch Video Solution

113. What are tylosoids ?

https://dl.doubtnut.com/l/_xO6EC9dWwXFx
https://dl.doubtnut.com/l/_S5ted7jE6EoK
https://dl.doubtnut.com/l/_vyDg035VkLhr


Watch Video Solution

114. Describe the origin and formation of

vascular cambium.

Watch Video Solution

115. Write down the economic importance of

barks.

Watch Video Solution

https://dl.doubtnut.com/l/_vyDg035VkLhr
https://dl.doubtnut.com/l/_16Y8KKDZHQEs
https://dl.doubtnut.com/l/_KLD793zZHHBY
https://dl.doubtnut.com/l/_MNd6pT0DyGTi


116. A transverse section of the trunk of a tree

shows concentric rings which are known as

growth rings . How are these rings formed ?

What are the significance of these rings ?

Watch Video Solution

117. A transverse section of the trunk of a tree

shows concentric rings which are known as

growth rings . How are these rings formed ?

What are the significance of these rings ?

Watch Video Solution

https://dl.doubtnut.com/l/_MNd6pT0DyGTi
https://dl.doubtnut.com/l/_TJgbZjRbnENG


118. Mention some plants from which bast

fibres are obtained.

Watch Video Solution

119. Name the tissue that bring about

secondary growth in dicots.

Watch Video Solution

https://dl.doubtnut.com/l/_TJgbZjRbnENG
https://dl.doubtnut.com/l/_W5VM4aiIulg6
https://dl.doubtnut.com/l/_Tf6sHyrwKNIX


Example

1. What is the fate of primary xylem in a dicot

root showing extensive secondary growth?

A. It is retained in the center of the axis

B. it gets crushed

C. May or may not get crushed

D. It gets surrounded by primary phloem.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_rYxqr5URB8vH


2. In which season the vessles of angiosperms

are larger in size, Why?

Watch Video Solution

3. In a forest, if the bark of a tree is damaged

by the horn of a deer, How will be plant

overcome the damage?

Watch Video Solution

https://dl.doubtnut.com/l/_rYxqr5URB8vH
https://dl.doubtnut.com/l/_LXoS822iSmBI
https://dl.doubtnut.com/l/_ifNtjXEM4Jdv
https://dl.doubtnut.com/l/_pStYdIxqyL5S


4. Continuous state of dividing tissues called

meristem. In connection to this, what is the

role of lateral meristem?

Watch Video Solution

5. A timber merchant bought 2 logs of wood

from a forest & named A & B , The log A was

50 year old & B was 20 years old. Which log of

wood will last longer for the merchant ? Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_pStYdIxqyL5S
https://dl.doubtnut.com/l/_2xbXlgX1cJeX


6. A transverse section of the trunk of a tree

shows concentric rings which are known as

growth rings . How are these rings formed ?

What are the significance of these rings ?

Watch Video Solution

7. What is secondary growth?

Watch Video Solution

https://dl.doubtnut.com/l/_GmOBBHg328ZP
https://dl.doubtnut.com/l/_dX1Kq8YaNdID


8. What is vascular cambium?

Watch Video Solution

9. What is vascular cambial ring?

Watch Video Solution

10. What are fusiform initials?

Watch Video Solution

https://dl.doubtnut.com/l/_6MGilSXRFSXz
https://dl.doubtnut.com/l/_ETMYZLSHrKc7
https://dl.doubtnut.com/l/_U3356FTfaTsn


11. What is non-storied cambium?

Watch Video Solution

12. What is xylotomy ?

Watch Video Solution

13. Spring wood - comment

Watch Video Solution

https://dl.doubtnut.com/l/_C1NxXgcGaz5L
https://dl.doubtnut.com/l/_YXC7FREVkeLW
https://dl.doubtnut.com/l/_UneBtBN0z9Mj


14. Define dendrochronology.

Watch Video Solution

15. Define dendroclimatology.

Watch Video Solution

16. What is diffuse porous wood?

Watch Video Solution

https://dl.doubtnut.com/l/_4WIMVYWq8A4R
https://dl.doubtnut.com/l/_ds8u5YGzHde2
https://dl.doubtnut.com/l/_K2qvHaK6FQ4M


17. What is ring porous wood?

Watch Video Solution

18. What is Tyloses ?

Watch Video Solution

19. What is periderm ? Mention its

components .

Watch Video Solution

https://dl.doubtnut.com/l/_jyqXb4QdhOVp
https://dl.doubtnut.com/l/_kgx6EGEpskYv
https://dl.doubtnut.com/l/_k13hT9Gksl3M


20. What are Phelloids ?

Watch Video Solution

21. What is rhytidome?

Watch Video Solution

22. What is polyderms?

Watch Video Solution

https://dl.doubtnut.com/l/_k13hT9Gksl3M
https://dl.doubtnut.com/l/_O2XZL95S31q0
https://dl.doubtnut.com/l/_7Kvxm4DJNBRn
https://dl.doubtnut.com/l/_5xY1UDqqKywA


23. What is Phelloderm ?

Watch Video Solution

24. What is scale bark?

Watch Video Solution

25. Define lenticel.

Watch Video Solution

https://dl.doubtnut.com/l/_5xY1UDqqKywA
https://dl.doubtnut.com/l/_JPSvaSOG1dBP
https://dl.doubtnut.com/l/_26Ww4OFMvRcj
https://dl.doubtnut.com/l/_GzGBtggCS8eJ


26. What is complementary tissue?

Watch Video Solution

27. What are pseudo annual rings?

Watch Video Solution

28. What are tylosoids ?

Watch Video Solution

https://dl.doubtnut.com/l/_GzGBtggCS8eJ
https://dl.doubtnut.com/l/_ORdQbaUUdr0H
https://dl.doubtnut.com/l/_inRzf28gaAx0
https://dl.doubtnut.com/l/_duMmFjQXkmr5


29. Define 'bark'.

Watch Video Solution

https://dl.doubtnut.com/l/_duMmFjQXkmr5
https://dl.doubtnut.com/l/_CE5eWMkxM3xL

